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Cell Cycle & Meiosis Quiz
1.  In which phase of the cell cycle does the DNA replicate?

a) gap 1
b) synthesis
c) gap 2
d) mitosis
e) cytokinesis
2. Cell growth occurs during which phase of the cell cycle?

a) gap 1
b) synthesis
c) gap 2
d) mitosis
e) cytokinesis
3.  If an organism has 16 chromosomes in an egg cell, how many chromosomes will be present in a muscle cell?

a) 46

b) 16

c) 48

d) 32

e) 8

4.  Synapsis refers to

a) the pairing of sister chromatids


b) fertilization of an egg cell by a sperm cell

c) the separation of homologous chromosomes

d) the separation of sister chromatids




e) the pairing of homologous chromosomes

5.  Sister chromatids are attached by the 

a) spindle fibers
b)centromeres 
     c) microtubules
d) mitotic spindle
e) centriole

6.  The phase of mitosis in which the centromere of each chromosome attaches to a spindle fibre is 

a) anaphase

b) metaphase

c) telophase
 d) interphase

e) prophase




7.  What is the correct sequence of the following events that occur in mitosis?

1.  The cytoplasm and organelles are divided between the daughter cells.

2.  The nucleolus and nuclear envelope reappear.

3.  The centromere splits.

4.  The chromosomes condense and the nucleolus disappears.

5.  The chromosomes are pulled to the poles of the cell.

6.  The chromosomes line up on the equatorial plane.

a) 2-1-3-6-5-4
b) 1-4-3-5-6-2

c) 4-3-6-5-2-1

d) 4-6-3-5-2-1

e) 4-6-3-2-5-1

8.  An important feature of meiosis is that it

	a)
	results in the production of a fertilized egg cell.

	b)
	minimizes the number of genetically different gametes.

	c)
	doubles the chromosome number between successive generations.

	d)
	maintains the same number of chromosomes in the organism between generations.

	e)
	reduces the number of chromosomes in the organism between generations.


9.
  A cell in a human testis is undergoing meiosis. What is the sequence of the following events?

1.  A cell division occurs without the duplication of chromosomes.

2.  The chromosomes replicate in interphase.

3.  Haploid cells are formed.

4.  Without separation of the centromere, the chromosomes move to the poles of the cell.

5.  The centromere splits and the chromosomes move to the poles of the cell.
a) 2-4-5-1-3

b) 1-5-4-3-2

c) 4-1-5-2-3

d) 2-5-1-4-3

e) 2-1-5-4-3
10.  If non-disjunction occurred in meiosis II, the cells produced would be

a) 2 with normal chromosome number, 1 with a missing chromosome, 1 with an extra chromosome

b) 2 with normal chromosome number, 2 with an extra chromosome

c) 2 with extra chromosomes, 2 with missing chromosomes

d) 4 normal cells

e) 3 with an extra chromosome, 1 with a missing chromosome

11.  Which of the following would NOT be found during cell division of a plant cell?

a) cell membrane
b) chromatids

c) cleavage furrow
d) centromeres

e) mitotic spindle

12.  Chiasmata refers to

a) sister chromatids overlapping


b) homologous chromosomes separating

c) homologous chromosomes overlapping
d) sister chromatids separating


13. Chromatin is found in 

a) anaphase
b) interphase
c) telophase
d) prophase
e) metaphase

Match the following stages of meiosis the events listed below.

	a.
	prophase I
	e.
	prophase II

	b.
	metaphase I
	f.
	metaphase II

	c.
	anaphase I
	g.
	anaphase II

	d.
	telophase I
	h.
	telophase II


_____
14.
sister chromatids separate
_____
15.
chromosomes, each with two sister chromatids, line up along the equatorial plate

_____
16.
four haploid cells are produced

_____
17.
homologous chromosomes move to opposite poles

_____
18.
nuclear membrane dissolves, and chromosomes come together in homologous pairs

_____
19.
cells are ready to enter the second stage of meiosis

_____
20.
homologous chromosomes line up along the equatorial plate

_____
21.
crossing over occurs
22.
What is the basic function of meiosis, and why is it necessary? [2 marks]
